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N & 0l & AF S & M M
AN T
Y OFMBH HMIIE 2=
ool BTHEE Ay CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
2h TH 1t 69,598,037 69,513,807 84,230
= 41,035,600 40,967,600 68,000
< 28,562,437 28,546,207 16,230
OHM B EHTHOIBE A H 56,196,803 56,104,803 92,000
= 41,035,600 40,967,600 68,000
< 15,161,203 15,137,203 24,000
LM A2t 462,103 441,933 20,170
= 28,600 28,600 0
< 433,503 413,333 20,170
MY SHAMA =E 49,170 29,000 20,170
202 044l 10,370 12,200 A 1,830
01 SLHOYI 10,370 12,200 A 1,830
OMETH ety =& 8,500 10,000 A 1,500
OXNgetdE 2 X& HMPP FH 1,870 2,200 A 330
403 A X EHS =0l A 22,000 0 22,000
01 AXISHH A2 E= 22,000 0 22,000
OXNdXsLd Mt &2y XA 22,000 0 22,000
Mo AtE CHEI =& 23t 55,734,700 55,662,870 71,830
= 41,007,000 40,939,000 68,000
< 14,727,700 14,723,870 3,830
Olg=ao THoHH 2 =& 55,220 62,070 A6,850
201 L Et2A | 44,170 49,070 A 4,900
01 At 2teltl 44,170 49,070 A 4,900
OMHETH=Z0F AR =29 44,170 49,070 24,900
202 Oddl 11,050 13,000 A 1,950
01 = LH 4 Hi 11,050 13,000 A1,950
OTHoHIIoH ZAL & THoHsE7 =& 5,100 6,000 A 900
OMETHHE &S HBESI2 HE XA 3,400 4,000 A 600
OXSATH MY XN FH 2,550 3,000 A 450
KNTotE AISE 215 XNEAE(21) 78,680 0 78,680
= 68,000 0 68,000
=) 10,680 0 10,680
308 XX EHHSOIA 78,680 0 78,680
= 68,000 0 68,000
& 10,680 0 10,680
01 AXSHHBAEES 78,680 0 78,680
OXEH AIEE AT XA 78,680 0 78,680
= 68,000 0 68,000
< 10,680 0 10,680
HY2FZH (L) 34,679 42,449 AT,770
Jl=Zdl 34,679 42,449 ANT,770
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M HE2IZH (ZM)
¢l =gl (chel & 9l)
S2A-ZH () - HRAY - BES Ofl & oH JEH Hn&s2Z
EM2E Jl=2Z 34,679 42,449 ANT,770
201 £B-2d| 22,871 28,589 25,718
01 At 22l 22,871 28,589 25,718
ORAM2Y AtR22lHl 22,871 28,589 25,718
202 o4dl 8,208 10,260 N2,052
01 = LH o4 1l 8,208 10,260 A 2,052
ORM2E =L 8,208 10,260 22,052




